w
o
—
s )
(=]
—
—
=T
=
[ )
[
o
(== ]

B ®
B-TECH @MDUNTS'

BT7012

PURLIN MOUNT
FOR B50MM POLES

PARTS LIST

ITEM

PART NAME

TUBE ASSEMBLY

ANGLE MOUNT ASSEMBLY

LARGE BACK PLATE

SMALL BACK PLATE

M8 x 65mm SCREW

M8 x 6mm GRUB SCREW

M10 x 30mm BOLT

M10 NYLOC NUT

VWio|N[([aojLnn|bh]JwWIN]|=

M5 x 20mm SCEW

M5 WASHER

M5 NYLOC NUT

5AF HEX KEY

www.btechavmounts.com




B ®
B-TECH @ MOUNTS®

BT7012

PURLIN MOUNT
FOR B50MM POLES

PRODUCT DIMENSIONS

TOP VIEW BOTTOM VIEW Q&
&

w
o
—
s )
(=]
—
—
=T
=
[ )
[
o
(== ]

Vv
— 2x £10.2mm
g €
)
: i
E 130mm ™
wn
~N 180mm Note: Ensure item 10
does not protrude
REAR VIEW SIDE VIEW through the inner face.
180mm =
g
130mm A 79.6mm _ 131.8mm 141.8mm
A o | Yo
(0] ¢} £ Max 45° Max 45°
£ — _
o
o} c& 0
4x $10.2mm
£ @ £
£ £ B 357mm S ‘ @ £
IS £ b ‘ m
3| g w ] )
0 N «
"5 @ | °
~ @ =
° ol ¢ ° ° ° °
‘ O
o |
° ‘ ° ° ° ° °
CONTACT:

info@btechavmounts.com

©2021 B-Tech International Design & Manufacturing Ltd. All rights reserved.
B-Tech AV Mounts is a division of B-Tech International Design & Manufacturing Ltd.

B-Tech AV Mounts and the B-Tech logo are registered trade marks.
All other brands and product names are trademarks of their respective owners. @
Photographs are for illustrative purposes only. E&OE. OC] <:9

AMA-BT7012-V2.1-0921-110 MADE IN VIETNAM

www.btechavmounts.com




